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SSC CHSL (10+2) 2022

* Select the word-pair in which the two words are related in the same way as are

the two words 1n the following word-pair.

* 36 TToq-FH hI AT L [STEH 2T I1eq I8! TehR Eeiford & S8 HH AN eI
7 375 2

® Ostrich : Eagle.(w : <TeT)

A.Whale : Kite
B. Cow : Elephan
C. Hen : Goat

D. Swan : Lion
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* How many triangles are presents in the following figure?

o TAARad SATehR(d H feohd IehivT HISTE &2

A. 13
B. 16
C. 14

D. 11




SSC CHSL (10+2) 2022
*SSC CHSL (Tier - 1) Online Exam Paper

2018 "held on 11 JULY 2019"
*Morning-Shift (Reasoning)
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®* Which letter-pair will replace the question mark (?) in the following series?

* (et sige § Sserereh g (?) o T 9T hIH-9T &I AT
* FJ, HL, ?, LP, NR o

\ 1

A. IN
B. GM
C. JM
D. JN
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* Select the option that 1s related to the third letter-pair in the same way as the

second letter-pair 1s related to the first letter-pair.

* 3Y forshe™ shT =1 sh{ ST {16 ST&T-IH H SHT Teh Tl (e @ i UL ST&R-JH
Il STER-TH H Helford 2

* DJ:HT ::HM :?

A. LW
B. JK
C. LP
D. PY
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* Three of the following four letter-clusters are alike 1n a certain way and one 1s

different. Pick the odd one out.
o ffeTfigd = HeR-awRl H € i ueh ff2rd alieh & g0 & 3K U 9= 21 foe

A. DFHJ
B. CEGI
. QSUV |
. JLNP

o O
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* Three of the following four numbers are alike 1n a certain way and one 1s

different. Pick the number that 1s different from the rest.

o TafTitad = st ¥ 9 i1 e f[Afyd atier 9 gue 2 37K Tk 37T 2| 98 9%

N

< T SIThT | ST 2

A. 85
B. 67
C.95
D.75
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®* Which two signs should be interchanged in the following equation to make it

correct?

o fEfcTierd SHTeRtor <l W&l i o TeA fohet a1 Tl shl SAT9H § sIqeteT =iiey?
*5+8-30x10+2=240

A.+ and -
B. xand +
C. +and +
D. x and -
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* Select the correct mirror image of the given figure when the mirror is placed to
the right of the figure.

o 3} TS STTRICT hT & U ST 3T T B TS GUUT T SR oh aTS T T ST &)
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* Select the Venn diagram that best illustrates the relationship between the

following classes.

* Rats, Frogs, Snakes

® I TG R = ki S (HHTARagd Tt o s Gy ohl Gad 3731 a‘\fﬁ?ﬂ%l

. c@, Hadh, 9ia
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®* In a code language, GOURD 1s written as IQSTF. How will APHID be written

as 1n that language?

® Teh %< |IT H GOURD 31 IQSTF fofiar STt 21 6T |Is § APHID 31 <h#l fora
ST

A. CREKF
B. CRJKF
C. CRFKF
D. CRFLF
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* Arrange the following words in the sequence as they appear in English
dictionery order.

o [TIRad STsel ol 39 shH H I Yd i S8 o TSI ITeashIIT shH H fe@Ts 3d B

* 1. Mercury
* 2. Earth

* 3. Jupiter
®* 4. Venus

® 5. Mars

A.2,3,5, 1,4
B. 4,2,5 3,1
C. 1,4,2,3, 5§
D.2,3,1,5,4
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* Select the set in which the numbers are related in the same way as are the

numbers of the following set.

* 3T U2 T T3 i (STHH AT 3T I8 © (T & Sl (= TRad U hl T B
¢ (49,81, 121)

o A. (16, 25, 49)
7\ \ B. (16, 64, 100)
[1)5 C. (36, 64, 100) |
B D. (9, 4, 8)




SSC CHSL (10+2) 2022

* ‘ENGINEER’ 1s related to ‘BUILDING’ 1n the same way as ‘WRITER’ 1s

related to ¢ :
o ST T GieT 'S @ IET Th R @ S "HGeh' T Gy ! ' 2
A.BOOK
B. PEN
C. INK

D. PAPER
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® Anil and Abhay are brothers. Swati 1s the daughter of Samir and sister of Anil.
How 1s Abhay's mother related to Samir?

o AT TR STV WIS 8| T, FHIT T T T A ol 18 21 3T+ hl 0T ol T

T AT T 27

\~ \ A. Sister-in-law
0 ] B. Sister
AN\ C. Mother

D. Wife
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®* Which number will replace the question mark (?) in the following series?

o [TTRIT SEAT H J5aT=eh To+g (?) o T 9T ohI- €T AT AT
®2,4,7,12, 19, 30, ?

A. 38
B.47
C.43
D.36
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* [f BARBER is coded as 116 and GLINT 1s coded as 73, then how will LIZARD

be coded as?

e Jfc BARBER 1 116 % &9 § shifed fohIT SITAT @ 371X GLINT sl 73 o ®9 | shifed
foram SITaT 8, @1 LIZARD o1 forg bR ahifed femam StTaem?

B -
 (30) ] iy
e\Na—" & C 90

D.93
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® Statements:

* All hens are eggs./@+l qRIET 31 2
* All birds are eggs./@¥T Tl i< 2|
* All eggs are lions./T 378 IX &

® Conclusions:

* I. All hens are lions./@dt ﬂﬁ'ﬂfﬁ'{%l
* II. Some lions are eggs./%® I IS 2
® [11. All birds are lions./&¥t &t 3T 2|
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®* What was the day of the week on 15 August 2013?
® 15 ST 2013 Sl HHTE T ohiH €T fa T2

A. Monday
B. Wednesday

C. Thursday
D. Tuesday
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® Mahesh 1s standing facing north. He turns 180° in the clockwise direction and

then 45° 1n the same direction and then 270° in the anticlockwise direction. In
which direction 1s he facing now?

* HEY IT hl X 0 Hlh TSI ol I8 Srqunerd fo=1 H 180° AT & S T 36T
=T 7 45° SR R aeTe o= & 270° 7T €| 98 316 fohe 42T ol 3R 3@ 77

A. South-West
B. South-East |

C. North-East
D. North-West




